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Ejercicios resueltos

21.- 3sen‘a +4 cos‘a =3 +cos’ &
3(1-cos’ @) +4cos’ a=3-3cos’ a+4cos’ o = 3+cos* &

22- 9sec’ -5t @=5+4sec’ @
(recuerda: 1 +tg°a = sec’a; tg?a = sec’o — 1)
9sec’a —5 (sec’a — 1) = 5+ 4 sec’a

23- 1-———=sena

l+sena—cos’a _1-cos’a+sena _ sena+sena  sena(sena +1)

=sena
l+sena l+sena 1+sena sena +1
sen’a
24- 1-——=-C0Sa
1-cosa
1-cosa—sena l-sen’a—cosa _ COS°a—COS _c05a(005a—1)__COSa
1-cosa 1-cosa 1-cosa —(cosa—1)
o5 1+tga=COtga+l
l1-tga cotga-1
L1 coga+l
l+tga  cotlga cotga cotga+1l
l-ga o1 cotga-1 cotga-1
colga  cotg
26.- coseca—1 l-sena
" coseca+l l+sena
1 1 1-sena
sena  __seng _l-sena
1 l1+sena 1+ sena
—+1 -
sena sena
n
27 X% FN%_ 54

coseCa COSa

1
COSa Sena _Sena  Sena
+ = +

1 COSa COSa COSa
sena

=lga+tga=21tg a
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